PN vy = — >
FHAEE HBPERBFT=RABEHRT2—IL(4A8)
= A X K PN & T
38278 38280 38290 38308 31H 4818 4828
138~ 158 1385~ 158 138~ 158 13F~ 158 1485~ 168 1285 ~ 135
o] = 3 E@EP = —EE’iﬁr’A
e e g A FERARR ot 138 ~ 1485
MREQO® MREQ MREQ Nl MREQ® e
HE S RHEC
3H 4H 58 68 78 8H 9H
13K~ 158 130~ 158 13K~ 158 BER% AZRAEH>THS 108F~ 120
K wE e HE kL mE wE
MTREDQ TREDQ MTREDQ HEA EEAFR MRE®
10H 118 128 13H 148 150 168
o b m =y e R T 1085~ 128%
R It A b e s 1 % HE
G g e ikt
178 188 190 20H 21H 22H 230
o sy R 1085~ 1285
1*‘7% 5‘/297‘/5—7_‘497‘ ﬁ%%%é 1*3% ﬁh&nﬁf ; I EEEP%*X
e 3 EE‘??EE %b@q: e N 1605~ 18HF
R 2RECXFLEDH
240 250 260 27H 28H 290 30H
o e e MBI FFEHRE
s [t A meaidd G thr eI MBBEHTAKE (1 ADEHDALR)
G A
2022F K S=18

OEBREZLE @H‘ﬁ(ﬂﬁﬂ" QEHIL7L

BERNEL. TN BEERNYTF




